REXETLAR

OE — |

Ok
ré

I~
)
Xz

S IRBE
BALEY (2,22 1)

o]
o
[o]
o
o

J

1
=

&
\e

[\
A\¢
\
\L
\
\
\

N

¢

=
\

AW
AN

IR\

i —

1

‘ r

A\

H—ERRBEE
BALEY (.20 1)

7 anzEemg SN
=akEr

#M(195cemx 10)
4 ZA(F 20)

#M(130cmx2)

\
[\

I

LILITT]

R T O
059 e 5 ) 0 0

ingso cnx10)

(HZEE (180 cnx 10)]

CITTTITITTITTT [COIIIT1T1]

NATA42Z 20

=

LITTIT) [COTTTTITT1T11

KKR—IEE

. /\"*)b‘é%gso x120 )
K= IIER2 ENIRA2

#(195emx35) #1(130cnx 2)

4 X(F 160) & 1 '
INAIL30

CITTTT) [OCIITITTITTIT 1 CIII11]

LITTTTT]

D O 5 4 55 6 5 e 5 1

05 1 O T O 0 5 1 o
LI T T T T T I T TI T I I I IT TT T I

LITTTTTTT I ITITI1T I IT11]

CIITTTTT] OOTTTTTTIITT] I IT11]

CLTTTTTT) COITIITTTITITT] (I

55155 . O O 0 10 1 1 o e
10 I I

55 5 S 5 S 0 I 0 1 o O

0 1 S A o D

: /
‘OW/L_A_II|[IIIII__LIIIIIIIIIIII_._JIIIIiIHL

LI T T T I T T I T T T T T T T I T TT0]

[T o e

[

i
S
i
3
T
o o

‘KVTLUI|IHI!L_UIIIIIIIIHI_.JIIIIIIIH
/@IHIIUIIL_IHIIIIJIIIIL_I_HIIIIIII

__//L__I_I_HIII.Iil_l_Ll_III{IIHIl_LlIIIIIIIL

g
e
]
s
_%L Ly
LA
-
/L
=
X
8
_q/bllllIIIIH__JIIIIIIIIITIL__IIIIJIHII
ik

_ I

K

H13.7.300




